


o] 180° ¢
SHA 2.

.Z?_

A7k 0] A vztel
=
=

37]

2.

135°

ul

ol

180° x 6 = 1080 °

(

1 Zke] 27))

1080° +8 =135°

8o
N

A

el

155




ol o] Ard 2 AEE TSk el A4l =
Ut g Aol 718 B wet 7 Ae mo) g2 F 2 A k
AU7F?
A = AL
AJ 4000
A
2 3000 ==
kg 2000 z
/7
1000
0 2002 2003 2004 2005 2006
A=)
> E kg
> FE . °F4000kg

B

2 AArgo] 7P s o ¢ 3000 kg

2 Aol 7P A& o 1200kg

2 Aol 7HE B wieh 7MY AS w o] 92 4200kg o2
42002 B o] ZpE ol A BHEHSHA 4000( kg) U T

whebA] oF 4000 kg AU .




CRL
N <

N 5

il

o

L

N| o

ol

n°e)

Nl w

o

B8O

ﬁ_- ™

—_—

)A

| T2
~— N

C\# 7~I/(\
BA

77

ul
RO

i

>

12748 =35(7H)

1713

44 4+ 10 = 54(7N)
: 54+ 11 =65(7})
65412 ="77(70)

7

o]
SR

1

A

A2

77(70)

14x (14-3)+2




( 4 ’ ’ 4 ’ ) ’ i
>

\4
L

o

o

o
i
k)

Vv
\V4
vV V¥
o v
il
ku)

o
i
o

A58

%




